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Q. No. 1 carries 1 mark each

1 (a) . Ix4 = 4
1 (b) 1x2 = 2
1 (c) 1x2E=» 2
Q. Nos. 2-6 carry 2 marks each Dx5E=R10
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1. (@) Fill in the blanks with appropriate word/words : (any four)
SoRG ARl <R A G & (@ T oS

(i) Balance of shares forfeited account after re-issue is transferred

tQ '— ;
(i) Income and Expenditure Account is prepared on _ basis. ' o5 [ =17 Aiteme e B TS T < 2
' ! (1) Reserve Fund
SRR fefere e = =2 | AP fere
| (it) Liability of a partner is ' s ' (b) Profit and Loss Account

il r - 3 N

GE SNIIES FE AR | . eme

- C apital Reserve

(iii) Annual Report is issued by a company to its i 1 Cap R

| TETH] AT
T @A R AfsEm & Bfe s | : _

(c)  State whether the following statements are “True” or “False” : (any two)

] iquid ratio i : i i t 1 .and current
- (iv) Liquid ratio is the relationship betweer 1 e i .
liabilities. : ; ‘ _ | CpIca
79 =R BfETS AR TG AP I | - (i)  Outstanding subscription is an asset. 1
GgeT ey 2 T : < _ .
' 5 ' ST Bl 20E B T
(v) Equity shareholders are _____ of a company. 1

S S D AR —_— - (i) A Preference Shareholder gets interest at a fixed rate, 1
| - e SalfSREE S b [ 2@ W A
() Choose the correct alternative :

wm Ceao @0 e 3

(i1i) Company’s shares are generally transferable. i

(P11 SREAGTIZ TS TR |

(i) When a new partner is admitted — 1

(iv) Life membership fee is a capital receipt. 1
T4 G TG SRR OO | TW— SIS 7] AP FET G o) |

(1) Consent of all the partners is required.

NS

i 2. Mention two features of a not-for-profit organisation. 2
Fee] SRAIICER A ZTAeH & | | ' oIS Al (ReA AT 76 @iiE S =@l
: - majority of the partners is required. _ { Lyl
(b) Consent of majority L 3. What is Profit and Loss Appropriation Account ?
—~ R 7 Gl A (& ?{q | L
A oo St ST e S SNSRI Teicarem o 9 2
ERYy F any one partner is requh‘t"d. ; / oy : . s a
(O Cotlsent olianyi O0e D & , 4. What is the meaning of Cash Flow from Financing Activities ? 2
: oW T ANad 2T S 23 : -
(I G5E ST A9 AT 2

| et ol (e @i wem wid eRite S S ¢
ING 2 |
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10.

Mention rz‘ny two features of a debenture. ° 2
G (T (P 76 (AT SR A |

Mention any fwo rights of a partner. 2
GFE SRR (T (Pl 7o SIElE S S |

A and B are partners sharing profits and losses in the ratio 3:2. C is

admitted into the partnership. A surrendered 12 1d of his share and B

surrendered Y th of his share in favour of C. Determine the new profi?f
sharing ratio.
A @R B WEEH SeMiE @92 SiEl 312 THACS S IR 359 IE | C &
o ST A (e 7 | A O SRER 14 GR B ORI OReE J. 9 C
(< AP FE | TG TS IR TS Bl S

OR / %Al |
Wr.ite three distinctions between Fixed Capital Account and Fluctuating
Capital Account.

o v ool ok i e R foAG A1 Ceel|

‘ _ .
Explain fhree uses of financial statement.
e eforawer foq/b i 0l T |

‘ S

: i i it
Mention any three objectives of preparing Comparative Statemen

. I AR ergeHCR (3 A (o Ty Sl S |

OR / 241

A company’s stock is Rs. 2,00,000. Total quuid assets are Rs. 8,00,000 and
quick ratio is 2 : 1. Calculate current ratio.

s e weren AfREE 2,00,000 BREll GID O sifica Al
8,00 000 il =) e Tglie TE 201 | BT S e e |
Explain the following terms :

frRre AR i e ¢

(i) Capital Fund

32T ACOU (BENG) [4]

s

32T ACOU (BENG)

(it) Life Membership Fee
WG [ 7S] T
(iz'ij Entrance Fee
EIoRI G|
OR / 9251

Write Hiree features of Fund Based Accounting.

fefSies R o7 @R e

OR / g2t

Calculate the amount of stationery consumed to be shown in the Income
and Expenditure A/c for the year ended 31st December, 2020 —

31 frEa 2020 @ﬁmaﬂ’mmwmmﬁﬂm AN TR AR
Refg a1 —

01-01-2020 31-12-2020
Creditors for stationery 4,000 g 6,200
AEREE G ATl
Stock of stationery . 5,400 5,000
AR TS

D-uring the year 2020 payment made for stationery was 340,000.

2020~ 4y TR & 40,000 Bisl #iffceiia = zeaie |

Write three differences between Realisation Account. and Revalu

ation
Account, 3
TR 2R GR TR B e o etk @il |
OR / g124;

Write any three uses of Cash Flow Statement.

91 AR AT (¥ (I oG TREE |

[ ' Contd.
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Other details (Sfs7 [9339) : -

12. Prepare Income and Expenditure Account from the following Receipts

and Payments Account and other details of Surya Club for the year ended (1)  Outstanding Salaries — 2 1,000
31st December, 2019 : | ' ‘ 5) SHWRE @9 —1,000 B
31 forrEa, 2019 SR EER & I S Fofie gl <=6 B9 @R

(i) Subscription outstanding — % 2,000

SoTI RS S -3 K 2o FEl g 4
it AT ST Bl — 2,000 BRE

Receipts and Payments Account

B (&=l 25 o) | e A (i1i) Subscription for 2019 received in 2018 — = 200
Receipt (E1) © (%) | Payments (335) | 2019 < bWl 2018 (o “ieat figafs— 200 B
To Bala’rjce b/d : 3 By Salaries 7 12,000 OR / w24}
(dEfB<T Tyge) (=) - bl o s A
Cash-in-hand 10,000 | By Honorarium 3,000 | Write fice distinctions between Receipts and Payments Account and
(o ) () Income and Expenditure Account. 5
To Subscriptions By Travelling Expenses. 2,000 | L) s | o ARG O e s foof=e sy =% A2 @ |
(btt) (=31 5¥) : | : | , :
2018 — 900 | By Telephone Charges 5,000 13.  Explain the method of calculating ““Cash flows from Operating Activities”
2019 1(') 000 (GREEE 45) - under direct method. ) ) 5
2020 — 1,000 ‘ ’ 10 i OB e B R e G o M (B e S o e R oy AR
; 20,900 : | ST ‘ :
Taieas O_f newspaper 100 | By Il:.\vestm.ent for: 10,000 g OR / 52/t
TR N 6 barras e 5 100 Il By Constrietion of Buildimsl| 4 7,000 ‘ alculate cash from operating activities from the following information :
(SIERA 725 ) (SF= Fstier) | | Fesie w2 (A0S RS SRR o gRiceE SR B <@ 2
To Donation (%) 6,000 | By Rent (%) 2,000 : - _ 2019 () 2020 (?)
T a5 e Building 8,000 By Postage (@ﬁs) 1,000 _ Profit and Loss A/C (G GGG %Iﬁ) 60,000 65,000
(SR R ) By Balance c/d: R RS 87,000 50,000
To Interest (7n) 200 (rTifes ©§6) i Bills Receivable (il f3&7) 62,000 1,03,000
. General Reserve (Fi4ias
To Maintenance Grant 2,000 Cash-in-hand (oW @) | 11,200 Resgtme, LRI e 202,000 2,37,000
i ‘ _ _ Salary Outstanding (SIFW () 30,000 12,000
VelRIeil Sl Wages Prepaid (SIS @wg STga1) 5,000
To Sale of Furniture 1,000 =l G A0 7,000
i ey, i = | oodwill (1) 80,000 70,000
ey : : Cash and Bank Balance (719 €3¢ Fj{t5a T58) 40,000 30,000
32T ACOU (BENG) [7] Contd.
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14. -What is Ratio Analysis ? Mention any three limitations of ratio analysis. , 15. From the folloWing Income Statement, prepare Common Size Income
3 . ¢ 243=5 ¢ | Statement and give your comments : 5
SR R S 2 SEeite REREE @ @ o/ THae! S S| Frae o S (A AR S I o dee SEl =R
: (O Moo & =l 28
OR / S2<1 ,
: ¢ ¢ ! i ik (ol Particulars 2018 (%) | 2019 () Particulars 2018 () | 2019 ()
i plai Ing & ignificance of any fwo of the rollown
E;tlfofiy fxplam the meaning and sigr ] S s s
' To Cost of By Net Sales [ 1,20,000 | 1,45,000
e TR (3 (I qioT Y TR Sy FRCRCA el TR — , 20, ; |
eI PO, o7 ; i Goods Sold 95,000 | 1,05,000 | (2= fiEr)
(i)  Debt-Equity Ratio (i =1 AmT=
2 bl G
SRR To Gross
(i) Gross Profit Ratio Profit ¢/d 25,000 40,000
Gl
GND =iced 7o ; ((.Tﬂ‘iﬁ 2) 1,20,000 | 1,45,000 1,20,000 1,45,000
: : To Office By Gross
G Brgetemsts 2000 | 8000 | Profit b/d 25,000 | 40,000
N R (T <) (5 =)
(iv) Stock Turnover Ratio To Distribution
A Expenses 3,000 5,000
e 2] SO S[e7ie (Roae <)
'OR/ G231 To Net
Profit ¢/d 20,000 | = 27,000
Cost of Goods Sold — ¥ 3,00,000 (F© &%)
= ' 25,000 40,000 25,000 40,000
fafe =i = E GFEED
Stock Turnover Ratio — 6 times OR / 24}

TG© A TIAes ST — 6 I
f Opening Stock is 210,000 less than

Find out the value of Opening Stock, :

‘the Closing Stock.

A elfEafEs Sgw Ad) A e A (ATF 10,000 BI<El <3 2, SR ST

sere wcelia o Fef e |

32T ACOU (BENG) ' [8]

Give the new format of the Balance Sheet of a company (main headings
only) as per the requirements of the revised Schedule-VI of the Companies
Act.

@A) iRE SAfeifde OifFRs VI SEiE @3 GEHNE TYe wioan wed
SIFED (@61 I FEAEERR) 2w SE |

32T ACOU (BENG) [RSA) Contd.
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OR / @241

Give five points of distinctions between under-subscription and over-
subscription.

T @ TS G SIS T ARG T S/ A2 s |

157

(7v) No cashis to be paid to B immediately and balance of his capltal
account is tp be transferred to his loan account.
B (& 75 4 OISHIFSIE ARG FHCO S A =R O Yoz A
Sge g A 2 ZAeT = 71

- Prepare Revaluation Account and Partners Capital Account.

AT AR G[R T Wiﬁﬂfi’iﬁ 3l |
OR/ @4l

Wute the uses of securities premmm amount.

er SfREEs S GRS e |

P, Q and R were in partnership sharing profits and losses in the ratio of
4:3:3. On 31st March, 2020 their Balance Sheet was as follows : 5

P, Q @ R 4:3:3 WHAICS S @R Roqasil 93 fooiem sieime
f&z11 31 Wb, 2020 Sifftd ©iwa g€ #[@f Frsie @ 2
Balance Sheet (¥%€ #1@)

16. A, B and C were in partnership sharing profits and losses in the ratio of
3:2:1. On 1st January, 2020, B retired from the firm. On that date their
Balance Sheet was as follows: - - J 2+3=5
A, B @& C 3:2:1 T9ICS &% @i 954 S Samiq] I e
1 SRS 2020 Sifftd B @fS0r (A SRR o429 564 | (12, Sifftd it bge

Balance Sheet (T%€ #1@)

Liabilities ((r=l) ® Assets (7€) ®)
Creditors 27,180 | Cash (79w =1%) 9,400
A Debtors (GAME) - 16,000
Capitals :

(SF5A) Stock (STES #i¢) 23,380
1 A 30,000 Building (&39) 46,000
B : 20,000 )
C. = 20:000 Profit and Loss A/c 2,400
: 70,000 :
(e~ 29119)
97,180 97,180
The terms of the retirement were :
SR *STR T2
(i) Building is to be appreciated by 2 14,000
SAGE TE 14,000 DR I w4l A | A
(ii) Provision for doubtful debts is to be made at 5% on the debtors.
MG TAE 5% FCwaaas de 7S qloq =l A
(iii) The goodwill of the firm is to be valued at % 36,000.
AfSVIER FHIE TEEE 36,000 GierE =1 2(A |
32T ACOU (BENG) [10]

Liabilities (i) (?) Assets (377if@) (?)
Creditors (&) 87,000 | Fixed Assets (BT T7IRe) 2,90,000
Reserve (F(%S [fe) 33,000 | Stock and Debtors 85,000
Capital Accounts : (TE® #49) =R (vl <9W)
Gt - Cash (%) ' 15,000

P ;1,05,000
(D e 85000
RS 80,000 2 70,000
3,90,000 3,90,000

'Q' died on 30.6.2020. Under the partnership agreement the executors of a
deceased partner were entitled to :

30.6.2020 SR ‘Q’ WA YT =

32T ACOU (BENG)

| plesre o S afsffEat i
() Amount standing to the credit of deceased partner's capital account.

TS SRAMIER o AR (s AR el il

[11]

Contd.
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5

(b) Interest on capital @ 12% p.a.

QAT 12% AT T SAE T |

(c) K]S ‘share of goodwill. The goodwill of the firm:on Q's death was
valued at 2 2,70,000.

O I S | Q < ST iR AT 0l 2,70,000 S T
2051 '

(d) Share of profit from the closing of the last financial year to the date

of death on the basis of last year's profits.

ol T2 FCeA fofars Rofe =@ oIa (A0e Tod Sif #3@ ates
oA | '

The profit of the firm for the year ended 31.3.2020 was 22,40,000.
31.03.2020 -5 A efepmta wires #fid & 2,40,000 G|

'Prepare Q's capital account on the date of his death.
Q-97 YA OIfficd O T il ees e |
- OR/ @131

Distinguish between Profit and Loss account and Profit and Loss

Appropriation account. 5

Se (e[ ZAE GR &11S (TR Sowies @AEs sy Aldmel mie |

What is Realisation Account ? Write tliree cases where a partnership firm
may be dissolved by a court. - ird=s)

=

SEiviEael o B ¢ G WEIEE b SRSl GG SR 2
[ =azR Trad S|

32T ACOU (BENG) [12]

OR / =41

Amal and Bimal are two partners in a firm. They share profits as 3:2.
Following is their Balance Sheet as on 31st March, 2021 on which date the
firm is dissolved : : ; :

SR G} [KE g efeRie S | OfFl 3:2 WA FS 3% I
31 S5, 20219 S TFE @ Frie «@EE, @ efSUiNha SEEe o3 8

Balance Sheet (Tg€ “id)

Liabilities (Cw=l) (2) Assets (FT7i®) (2)
Creditors (#S) 20,000 Fixed Assets (ZF1 77ife) 30,000
Reserve (if%e =ifen) 5,000 | Stock (ST&® iefy) 10,000

| Capitals : (1) Debtors ((w9wig) 15,000
‘Amal s 20,000 Cash (717) 3,000
(SI7eT) . '

Bimal , 15,000 ‘ Profit & Loss A/c 2,000
i 60,000 60,000

32T ACOU (BENG)

Fixed Assets are realised at % 28,000. Stock at % 8,000 and Debtors at
% 13,000. Expenses on realisation are ¥ 1,500. Creditors are paid at a

discount of 10%.
2 Tifesfe [ifes a0 28,000 Biel #iteat (5ieT | g 2i497 (AGF 8,000 BIdl =

(MG CAT 13,000 Bl AN (oleT | SEimSaceld I=0es s 1,500 BiRe |
AleamiaeE 10% (@2I20e AR a1 20El |

Prepare Realisation Account, Partners' Capital Account and Cash Account.

2+2+1=5
SEEERe 2R, SRR Yo B @) e @i dws Sl |
(3 Contd.
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19. Pradeep and Pranab are. partners in a firm. The Trial Balance of the firm

B e 000 s as under - g ; Prepare Profit and Loss Accqunt, Profit and Loss Appropriation Account
) . | and the Balance Sheet of the firm for the year ended 31st March, 2020, after
ool G923 26F GF 6 ATSHIET TFAWIE | 31 Si5-2020-09 2fowHba %g@ e . considering the following information :
Srae 4a0 el YR ‘ ‘ ' RS SAFAIR KD S 31 3, 2020-9 IR NS~ AR, -
Trial Balance (Sge 5@ #(@) J G ARG B @R THE A9 dwe @l |
Debit | R Credit ® il ' |
' | (1)  Write off 21,000 as Bad Debt and provide a 5% Provision on Sundry
Machinery (3a1f5) 54,000 Capgal d (3[e141) s | - Debtors for Doubtful Debts.
_ _ Pradeep — 0 ;
I()Eoodw(lll (vaam)) ;gggg (amie) | 1,000 56l SHRETE W4 R 6@ W GR R/iRd oemicm T, 5%
atent (C2ICO" Pranab — 40,000 '
A [ATR) g | : | ARG i 519 0o T |
Sundry Debtors 21,000 CERY) Rkt |
| (RfRg =mi=) ' SUndry. @reditors 5,000 (ii) Interest on Investment Accrued Z 600.
e
Cash in hand (F51% &) 1,000 | (ffxa ~ream) | AR SeiE - B |
. . I g el#l] 3w 600 G |
Closing Stock 25,000 | fnterest on Investment ; 400 A _ ‘
(77T sIere 74 ) : (RiFGItsE o 3w) ' ‘ (i) Interest on Partners' capital is allowed @ 5% p.a.
| Depreciation on Machinery 6,000 Sundry ARecelp ts (I i) 200 i SR I PERICE TAE AAAEE 5% 2@ AM 49O (A |
(TS %"f@ SR) Bills Payable (2iT7 f<1) 2,000 (iv) Create a General Reserve by taking 2 5,000 out of profit.
Rent (®19l) 10,000 1 ponk Overdraft 10,000 7 i1
Carriage Outward 1,000 (@ wsiTETD) A0S (ACE 5,000 TRAl Fa @i Afkw [ stom 0o [ |
(REFS TS ) Outstanding Wages 500 20. (a) Write fwo differences between Authonsed Capital and Issued Capital
Taxes (F9) 500 (=07 T5R) of a company. )
2 I 2 3,600 : ; 3
"(Ielepl;ol;le 5 %asr)gt—s e dine BNt G (I SIS TE @3 Jierre sEem s 76 A1 @
Commission () 800 (Fa-<eg f2719) : (b)  What is Minimum Subscription ? ' 2
Gross Profit ((I[6 #® 71,000
Drawings (Sizz) e AT Al TSN GRS S B 2
Pradeep (417 5,000 Discount (%(G) 900 ) L NI R il o
c at is Reserve al 7
Pranab (249) 4,000 9,000 | nat is Reserve Capita 2
Salaries (<) 8,000 %S T 2
Bank Charges (¢ b ) 100 (d) What is Call-in-Arrear ? 2
1,80,000 1,80,000
: & GE1 AE F2
32T ACOU (BENG) [14 ]
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ZL,

the following : |
e SRziehm o Qeisican {E G «fmics siem d/ifE 11e s

OR/ =<
Arnab Company Ltd. issued 10,000 equity shares of ¥ 100 each at a
premium of 10% payable as under : S
% 30 on Application
% 60 on Allotment (inclucﬁng premium).
2 20. on call

Kamalesh holding 400 shares failed to pay the allotment and call
money and Monalisha holding 700 shares failed to pay the call
money.

Show the entries in.the Cash book and Journal of the company for

the above transactions.

] =] e 2fSb 100 B e 10,000 © Sik*7@ 10% @f“@@
[T S| @b WeRie @&0 AReIY 0o 2 8

30 Bl SNEMET A
60 Ol (STAZF-AZ) SO HAGT
20 TRFl SEEd A

400 5 SEel=icaz iz e S5 GR8 WeRE il Siwid fes Al =)
700 5 SiEHIsta 41 QAT weres o wmiE faee Al
TARNG ETHSTER G (NI 9200 Fain 93 91 2R 7R eiem 2R
7 | ;

Give Journal entries for issue and redemption of Debentures in respect of

8

Debentures issued at a discount and redeemable at premium.

Aot Alge A «a] SifEE s |

32T ACOU (BENG) | [16]

(b)) Debentures issued at premium and redeemable at premium.

Heioirag SfFaE Rermad @ SIERE #ifHei |
() Debentures issued at par and redeemable at par.

Aeiitas AED R GR ATED AR |

(d) Debentures issued at premium and redeemable at par.

Yojoltas SRRl Riersd @R ATy AR |
OR / =131

What are the differences between a shareholder and a debentureholder ?

G SIRHAGHITE R GFE AT DR W Al 1 5o

Explain different methods of redemption of debentures.

OR/ S24Y

el ARCIER Bfey Awfoef T 3@

22. Ram and Mohan are partners sharing profits and losses equally. Their
Balance Sheet on 1st April, 2021 was follows :

A G G FATSICE S G2 TR 0 21 S TmiE | 1 @feis 2021-9 oitwa

8

Tge 7@ Fesie @[ & ¢
Balance Sheet (T%€ @)

Liabilities (C@<l) (€3] Assets (F77iT@) )
Sundry Creditors 15,000 | Cash (551%) 5,000
(R ~Aleare) Debtors (W«i7ig) 16,000

-| Capital GIF14) :
Stock (€9) 12,000

Ram : 40,000 o
(@) Machinery (Jgilo) 22,000
Mohan® = 30,000 * | Building (&) 30,000
( (3112T) 70,000

85,000 85,000
32T ACOU (BENG) [17] Contd.
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They decided to admit Sanjoy into partnership for 1/3rd share on the

following terms:

Sl 1/3 SREE G AGAE FeHie e fefers Sl JPIE Seee
AR Frale 7

(1) Machinery‘and Buildings were revalued at 2 20,000 and 2 42,000
respectively.
AT 0 TEATS GRS e I 20,000 Bl G=% 42,000 BIe!
41 <51 2=l |

(i) Creditors were reduced by % 2,000.
siieTmiaeE 2,000 GiRel 251 =1 2gel |

(iii) Provision for doubtful debts on debtors is to be created at 2 1,000.
AT Tel7E 1,000 Bield Frvases qewEr 949 $9) 5 |

(it) San](.ly 15 Lo bring in 2 40,000 as Kis capital and = 24,000 as preimium

for gOOdWi] I

S 40,000 Biw S = 24,000 Bist i i i i & |

Pass Journal entries for the above information and prepare Balance Sheet

of the firm after the admission of Sanjoy.
Solie wApErE T S ARl we R AgnR Swsied A eifoviE vee
QD AGO T |

(1)

OR / 241

Write any three limitations of partnership business. 5

. GNRE AR (F (P foTE AmEEe! @l |

32T ACOU (BENG) [18]

(i1) Explain five factors affecting the goodwill of a firm. 5
UV FNE eeiFe T S50 FREE SE @ |
‘ . ORrR/ww

Distinguish between dissolution of Partnership and dissolution of
Partnership firm. o . TS

ORISR SRPARS < SRR IPIER SRR 0 A1y @i |

32T ACOU (BENG) [19]



